
Math 101-172-Sec.4 -Quiz #5 

Name:                                                                         ID:      SR: 

Question1: Find the x-coordinate of the horizontal tangent to the curve given 
by  𝑦 = cosh(ln(𝑥)) + 4𝑥  . 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

Question2: Find the linearization 𝐿(𝑥) of the function 𝑓(𝑥) = 1 + ln (1 − 2x) 
at 𝑎 = 0, and find  𝐿(−1). 
 
 
 
 
 

 
 

 

 

 

 

 

 

Question3.  The radius of a circular disk is measured with a possible error of 2.5 

cm. find the maximum percentage error of the circumference of the disk. 

 
  

 

 

 

 


